
Violoncello

Copyright 2013 by Daniel Léo Simpson
www.danielsimpson.com

cum Sancto Spiritú

p poco cresc.

Andante Molto e=84

poco cresc.

13

mf

19

cresc. f mf

25

cresc.

cresc. f
dim.

p mp

A31

accel. 
40

Tempo Giusto q.= 7845


 con sord.

Daniel Léo Simpson
Summer 1996

Palo Alto, California
United States of America

Romance Concertante
For Two Violins

 senza sord.

Romance for 2 violins - simpson - 051016



f

B47

cresc. f

rit. 

53

p mp

Allegretto 
grazioso q. = 74

59

66

72

77

mp

rit. a tempo q.=74C D83

sf

96

E107

pizz.





Violoncello

Romance for 2 violins - simpson - 051016

2



F113

124

mp

130

p

135

mp mp poco cresc.

G139

mf mp

H153

mf

159

cresc. f

165

V.S.mp

I175

 pizz.

 (pizz.)

pizz.

(pizz.) arco

pizz.

Violoncello

Romance for 2 violins - simpson - 051016

3



cresc.

180

f

J187

193

mf

202

dim. mp

208

p mp

ritardando Allegretto grazioso q.=74
220

K233

dim. p

239

246

arco

pizz.

 pizz.

 arco

pizz.

arco

pizz. 

Violoncello

Romance for 2 violins - simpson - 051016

4



mf cresc. poco a poco...

L255

262

ff

269

p

Misterioso q.=69
274

p

ritardando Tranquillo q.=45M283

306

N311

316

V.S.

rit. 
320

arco

pizz. 

  pizz.

Violoncello

Romance for 2 violins - simpson - 051016

5



mp

Tranquillo q.=44 con moto q.=60poco rit. 
O324

mp

poco rit. 333

p p

q.=60340

mf

353

p

rit. 364

mf mp

pensivo q.=46374

p mf

ritardando Allegretto q.=66

poco accel. 

384

poco rit. 390

Moderato q.=66
395

 arco







pizz.

arco

pizz.

Violoncello

Romance for 2 violins - simpson - 051016

6



mp

Tempo giusto q.=70
399

f

419

dim.

424

mf mf

P431

mp mf

Q451

457

 pizz. 

arco

 

pizz.



Violoncello

Romance for 2 violins - simpson - 051016

7



mf f

R465

473

479

484

mf

Fuga q.=76
S488

520

526

532

538

arco



Violoncello

Romance for 2 violins - simpson - 051016

8



544

551

T556

561

566

569 

Violoncello

Romance for 2 violins - simpson - 051016

9



U574

f

579

584

mp mf

Poco meno mosso q.=76590

mp

poco rit. Tempo giusto q.=70596

mp

poco rit. 604

mp

Tempo giusto q.=74 V610

mp

632

639

pizz.

arco



 

Violoncello

Romance for 2 violins - simpson - 051016

10



p

ritardando646

mp mp

Andante q.=44 poco più mosso q.=54 rit. W651

p cresc. poco a poco...

Tranquillo q.=46 X661

mf p

ritardando
Y671

meno mosso q.=36 poco rit. poco meno mosso q.=32 ritardando681

Tranquillo q.=36Z689

f ff

697

 sord.

 pizz.

 arco

senza sord.

Violoncello

Romance for 2 violins - simpson - 051016

11


